PreCalculus

The Nitty-6ritty for
the Midterm ...



PreCalculus

- Conic Sections
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FORMULAFORC: ¢* = a® = B? FORMULAFORC: ¢* = a® + *
Systems:

Graph (find points of intersection), Substitution, or Combination/Elimination




PreCalculus - Matrices

name: row X column

AB=[
same

2x2 determinant: det A= ‘A

multiplication: a b

(rxc:rxc) C

i

3x3 determinant: |@ b ¢
detd=|d=|d e f
g h i
b -1
2x2 inverse: 41 -|“
c d
1 0 0 0
01 0 0
0 0 1 0

0o 0 0 - 1

add/sub: like dimensions

aw+by ax+bz
cw+dy cx+dz

a b
|:ad—bc
d

C

= (aei + bfg + cdh) — (gec + hfa +idb)

solving systems: AX =B

X=A"'B



PreCalculus - Angles & SOHCAHTOA

sin + sin +
COS - cos +
tan - S A tan +
sin - T|C sin -
COS - cos +
tan + tan -

radians to degrees:

degrees to radians:

rad -

180°

T

deg-

T
180°

coterminal anqgles:

degrees = 6 + 360°
radians = X + 21

reference angles:

positive distance from x-axis
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sine(sin)—cosecant(csc)
cosine(cos)—secant(sec)
tangent(tan)—cotangent(cot)
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cotd = adj
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PreCalculus - Triangle Trig

Right Triangle Apps: |Area of a Triangle:

Area = \/s(s —a)(s —b)(s —c)
............................... Area = lbcuS’inA V b
angle of 2 s=a+2+c

depression
Law of Cosines (SAS or SSS):

* a2=Db2+ c2 - 2bcCosA
c a ° b2 = a2 -+ C2 - 2aCCOSB
e c2=23a2+ b2 - 2abCosC

elevation —08

[} 1 A b C
Bearings: Neor :
. ,\ , =4 | Law of Sines (ASA, AAS or SSA!):

) |

§ s35°E | da - b L C Don't forget

A R : — ] — . about the
N45°E SinA SinB SinC ambiguous
g o ) case!

S1ﬁ




PreCalculus - 6raphs of Trig Functions

Transformations: y p— ia‘Siﬂ(bX - C) -|- d

/| N\

neg: reflects the x-axis period: horizontal/phase vertical shift
. shift
amplltude: ‘a‘ 27[ 3600 bx_c:()
vertical shrink/stretch —or A _°
b b b0 —c=0

S L/
y =+a-co8bx -¢)+d

omain:

[phase shift, bx—c=2z

bl —c =360°

> [0, 2] Cosine [0, 211]
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